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(1) 2L +800mL — 7dL x 2 = mL = L dL

(2) (5000mL+6dL) ~7=| 8 |dL =] 800 |mL

(3) 8dL+250mLXx10—15dL=| 1800 |[mL=| 1 |L| 8 |dL

(4) (105dL+4500mL) ~+3=|5000 |mL=| 50 |dL=| 5 |L
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800%18=14400
Lx 25000—14400=10600 %% 10L6dL
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2000—600=1400
1400+ (2x243) =200 H7=LH 800mL
Lx 200x4=800 200x3=600 %z B 600mL
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(1) 50MEH100%L £ 100MEHF 100511 =15000/

(2) TO0MHEHA150F L & 1000HEDOHM15FLV=30000MH
(3) 500HEH500% L) & 1000HEDH250%F L1 =500000H
(4) 50MEH2200%F L) &£ 100 EH680F L =178000H

(5) 100 EHA365FL & 1000HEDOM105%F LV =141500H
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(1) 1050%X1000=

(2) 8561 A5%X1000=85/1000%

(3) 5{&+1{825005=6/E25005 (4) 5{E—1{E25005=3/575007%

(5) 182/5+-100=1/18200 (6) 6%2075+1000=6075200
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(1) 8X5+2= (2) 24+3%x4=32 (3) 25%x4+10=10
(4) 72+-8X7=63 (5) 54+-9%x9=54 (6) 500+20-+5=5

(7) 560+7+40=2 (8) 4500+-5+100=9
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(1) 50+6= HEY) EULDBHE X6+ =

(2) 268+40=| 6 |H%W| 28| =L»r»HE| 6 |x40+|28|=| 268

(3) 666=70=| 9 |%%"| 36| =LrE| 9 [xX70+|36|=| 666
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(1) 2 (2) 2|5 (3) 3|3 (4) 4 |2
X 2 X 2 X 3 X
4 2 50 9 9 2 1
(5) 514 (6) 6 |8 (7) 7|6 (8) 518
X 6 X 7 X 8 X
3 2 4 4 7 6 6 0 8 5 2 2
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(1) 37%X2 (2) 43X 3 (83) 52x%x40 (4) 250%X4
4 3 5 2 250
X X 3 X 4:0 X 4
129 2080 1000
(56) 86 X7 (6) 60X 36 (7) 418X6 (8)125X70
8 6 6 0 41 8 125
X 7 X 3 6 X 6 X 7.0
6 02 2160 2508 8750
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& 1500—169%x8=148 %3 148

©#FIZ®ch @ misonya.com




saEt | R [ Fxras ||(Bm 109

FRE
T fH 2] 50 =

)

(-3

10mmi&fecm? 100cmi&fm? 1km(Efm? <! ¥ A

L3L ~ & O FH < g)@/(/t\ $‘£ZT5b\7é§ 13
B 7B s

o CRVBBEDTS (s

(1) 3250m=| 3 [km|[250 [m (2) 10km50m=| 10050 |m

(3) 5960mm=| 5 m[96|cm (4) 80000cm=| 800 |m

(5) 4555cm=|45|m|55|cm (6) 2000000m=| 2000 [km

9 HEAELEKD l1r34)

(1) 7TkmX8= km (2) 370mx6=| 2 [(km| 220 |m

(3) 2km800m+=7={400 |m (4) 54000mm-—+=6=| 9 m

€) 45cmDEEDURVAXREDBIFT ARDRNWIRMCLET.
VAR DDOLEDHZSCmMICTBHE AMFACMURY B TEERTH o

45%x4=180
(4—1)X5=15 xox=pnex

X 180—15=165 %% 1m65cm
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840+2=420
420+-3=140 #rToEs 72T 140m

2 140%X2=280 x&cnEx %z &I 280m
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